EHusqvarna | e | =12

10500145

Technical
Specification 2005

Trimmers, Brushcutters, Backpacks,
Edgers over 35cc



(HjHusqvarna

e — e S > é : i) : & A
[— | - - - P i 7
= = ‘ - o] ? g 2 . %: b7 e | @
N A R g ,, 7 L
Displacement Bore Stroke Max power of speed | Idling speed Engagement No load free speed Spark plu Electrode ga Ignition system Air ga Type of carburetter and settin Fuel tank volume Weight Angel gear reduction | Shaft thread Blade hole diameter | Blade diameter Angle Max. shaft speed
N e e ol | e T e el [ N [ T I - Rl ) B
Cilindrada Diametro de cilindro | Carrera Potenciamaximaa | Régimen de ralenti d'embrayage max.  feuia électrodes Sistema de Distancia Carburador y reglaje Eaerb'arda*;‘{ese'w” de ll peso carter de renvoi f\fe‘deag\eée Diametre dalésage | Klingdiameter Vinkel \\'/aefomad . de
Slagvolym Cylinderdiameter | Slaglangd Max effekt vid Tomgangsvarvtal §g§l;"g$‘g de :n ;a::r;\\;aar:\‘/:‘\uclon Tandstift ggé‘?rﬂucd‘gseﬂu"e ?;‘fﬁ';';:zm Luftgap Férgasartyp och installning Capacidad cel anque Vikt Onvaxingsformallande aang 'E;’,gr“;el‘ho de agujero S, axelhastighet
KW (H P) Ingreppsvarvial ** O NG K E‘ek“ﬁ;ﬂn:"d mm Tankvo.\ym bransle K\mgh?ﬁil?‘ﬁeter
cc 2 mm mm rpm rpm rpm rpm  JChampion| inch type inch type set * liters kg inch mm deg rpm
235R/RII 36.3400 | 38.0/400 | 320 | 13D | 2700 3800 | 11500~ | cnampon | 0S| WALBRO [ 03— | WALBRO | Rl 0.50 73 1153 | miw7s | 224 | 200300 | 35° 7800
18 (2.4) Champion | 05  [ELECTROLUY 0.3 | WALBRO | H=1-11/4 : i .
240F/R 40.2 40.0 32,0 S | 2700 3700 [ 12500 fCrameon| 0 s ST il el I 84/86 | 1136 |wmixt75| 200 | 200300 | 30 9190
i ZAMA | H=L 17107 : -
240R EPA*** 40.2 40.0 32,0 2700 3700 12500 [ Champion 7 10 0.80 1:136 | M12xL.75 | 200 200-300 30 9190
13(L7) o | K 0.7 IKED 03 | WALBRO | H=FIXED 75 | . 254 i ;
142R/142RB/142RJ 415 40.0 33.0 2ir) | 2600 3400 | 11000 spitey LA = e e | TEeES | 100 & 1129 | mi2a7s | 2 200300 | 35 9300
345Fx/345Fx T 430 41.0 325 | 2129 | 2800 | 3800 | 13500 [ Champion} 0.5 L3 0.3 ZAMA R 090 | 7m0 | 1129 [mix7s5| 200 | 200300 | 24 10 500

2002.7) Champion | 05 SEM 03 ZAVA | HeL . 254 i :
343R/345RXx 45.0 420 325 ouc | 280 [ sswo [ 12so fCPamaon| Fo | BV | 03 [ OWS ]S 0% | 820 | 1140 [maxazs| 24 [ 200300 | 35 8900
343F 45.0 42.0 325 | 20@0N 2800 | 3800 | 13500 Champion | 05 =EM 0.5 ZAMA Rl 0.90 79 1129 | mi2xe75 | 200 | 200300 | o4° 10500

Champion | 05 . WALBRO | H=LLU4 | (g0
RCIZY | 0.02 0012 | HpA142 | L=11y4 |

NGK . RED r WALBRO

2.1(2.9)
3 560 2700 4300 | 12500

9.2

250R
152RB/152RJ 50.2 44.0 330

1:1.36 M12x1.75 20.0 200-300 30° 9190

2 600 3400 | 11000%* 1.00 115/7.7 1129 | mixa7s | 24 200-300 35° 9300

24(3.2) Champion | 05  [ELECTROLUX| 03 | WALBRO | H=1-1 1/4 . ) .
252RX 50.9 450 320 5 o 2700 4300 [ 14000 |Champon) D5 s oy | bon | T ita | 080 1136 | M12x175 | 200 | 200-300 30 10 300
252RX EPA*** 2700 4300 | 13500+ J Champion WALBRU 0.80 8.9 1:1.36 | M12x0.75 | 200 | 200-300 30° 9930

ILLOTSON| H=1-11/4 . X o
HS 121A | L=1-1 1/4 1.00 10.8 1:1.26 M12x1.75 20.0 200-300 25 9120

ILLOTSON] H=FIXED

3.0(4.0) Champion 0.5 SEM 0.3
265 RX 65.1 48.0 36.0 8 400 2250 3500 11 500 RCJ 7Y 0.02 GA5 CD 0.12

265 RX EPA*** 65.1 43.0 36.0 30740) 2950 3500 11 000+ | Champion

1.00 10.8 1:1.26 M12x1.75 20.0 200-300 25° 8730

<> Do not exceed the max no load free speed or engine damage may occur. This figure is for broken in unit. Reduce rpm by 600-700 rpm for a new product. 544 19 72-02

Technical Specification 2005

*x Regulated ignition system.

Trimmers, Brushcutters, Backpacks, Edgers 35cc-






